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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

1. Draw input and output waveforms of Positive Clipper.
2. Draw Input and output waveforms of Positive Clamper.
3. Draw circuit of Voltage Tripler.

4. Define Voltage Gain for CE amplifier.

5. Define Current Gain (o) for CB amplifier.

6. Draw Symbol of Zener diode and Shotky diode.

7. Define Load Regulation with equation.

8. Define Line Regulation with equation.

9. Draw Voltage Divider type bias circuit for transistor.
10. Define Stability factor S.

(a) Write brief note on three terminal voltage regulator IC 78XX.
OR
(a) Enlist any four applications of Zener diode and draw the symbol of Zener diode.
(b) Explain principle of SMPS.
OR
(b) Explain working of Shunt Negative Clipper circuit.
(c) Draw symbol, characteristic of Photo diode and write construction of Photo diode.
04
OR
(c) Write construction of Shotky diode.
(d) Draw circuit of Halfwave Voltage Doubler and explain it’s working.
OR
(d) Write construction and working of Light Dependent Resister (LDR)

(a) Give any three advantages of Opt coupler.
OR
(a) Classify amplifier based on No. of stages, Coupling between two stages and
Frequency range.
(b) Enlist important features of CC amplifier.
OR
(b) Explain CC amplifier application as buffer.
(c) Draw the circuit of CE amplifier and explain it’s working.
OR
(c) Compare CE, CB, CC amplifier for it’s Any Four parameters.
(d) Explain Darlington Pair made of NPN transistor.
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OR
(d) Explain transistor as Switch.

(a) Why biasing circuit is used for transistor?
OR

(a) Explain the need of Heat sink.

(b) Give the reasons for change in operating point position.
OR

(b) Draw the circuit of two stage RC coupled amplifier and explain the necessity of

Cascading of amplifier.

(c) Draw the frequency response curve of RC coupled amplifier. Explain reasons of

reduction of it’s gain at low and high frequency.

(a) Explain Zener diode as voltage regulator.

(b) Explain h parameters.

(c) Explain working of series negative clipper circuit.

(d) Draw symbol, characteristics and equivalent circuit of Varactor diode.
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